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Question Number : 1 Correct: 1 Wrong : -0.33

The product of eigenvalues of the matrix P is

z 1 1
P=\4 —=3 3]

0 2 -1
(A) —6 (B) 2 (C) 6 (D) 2
Question Number : 2 Correct: 1 Wrong : -0.33
The value of lim,._,, w 15
(A)0 (B) 3 (€)1 (D) -1
Question Number : 3 Correct: 1 Wrong : -0.33

Consider the following partial differential equation for u(x, y) with the constant ¢ =>1:

du du .
5 k& - a —
Solution of this equation 1s
A ulx,y) = fx+cy) B)ulx,y) = f(x —cy)
Qulx,y) = flex+y) D) ux,y) = f(ex —y)
Question Number : 4 Correct: 1 Wrong : -0.33
The differential equation Z: + 16y = 0 for y(x) with the two boundary conditions
g o 1 and gx% = —1 has
(A) no solution (B) exactly two solutions

(C) exactly one solution (D) infinitely many solutions



Question Number : 5 Correct: 1 Wrong : 0

A six-face fair dice 1s rolled a large number of times. The mean value of the outcomes 1s

Question Number : 6 Correct: 1 Wrong : -0.33

For steady flow of a viscous incompressible fluid through a circular pipe of constant diameter, the
average velocity in the fully developed region 1s constant. Which one of the following statements
about the average velocity in the developing region is TRUE?

(A) It increases until the flow 1s fully developed.

(B) It 1s constant and is equal to the average velocity in the fully developed region.

(C) It decreases until the flow 1s fully developed.

(D) It 1s constant but is always lower than the average velocity in the fully developed region.

Question Number : 7 Correct: 1 Wrong : -0.33

Question Number : 8 Correct: 1 Wrong: 0

Water (density = 1000 kg/m’) at ambient temperature flows through a horizontal pipe of uniform
cross section at the rate of 1 kg/s. If the pressure drop across the pipe is 100 kPa. the minimum
power required to pump the water across the pipe. in watts, is

Question Number : 9 Correct: 1 Wrong : -0.33



